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Supplemental Table 2. Examples of responses classified as poor, ok, and good. Two examples of poor responses are included to show

the difference between an incomplete and an incorrect answer.

Knowledge Response

Examples

Poor (incomplete) “One can be managed by dietary restrictions.”

Poor (incorrect) “Type one is the early stage and type two is the middle stage”

Ok “Type 2 Diabetes is an issue where the body does not use
insulin effectively whereas with Type 1 Diabetes the body
has a lack of insulin.”

Good “Type 1 cannot be cured, and the person has to take insulin

every day. Type 2 can be controlled by diet, diet and
medication or sometimes the need for insulin is also
required.”
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